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�E=>6O 5<><54<F<=E>>7> ?D<5>D>EFD>5=<O 

2.1 %>EF>O=<5 >D74=<7<4 < 57> >F5=>4. %?5F<D<G5E><5 >E>55==>EF< 
5<>?>7<G5E><E >5N5>F>6 

2.2 �??4D4FO < ?D<5>DO 4?O <EE?54>64=<O 5<>M?5>FD<G5E>>= 4>F<6=>EF< 
>D74=<7<4 

2.3 �??4D4FO < ?D<5>DO 4?O D>F><5FD<G5E><E <EE?54>64=<=.  
2.4 �??4D4FO < ?D<5>DO 4?O <EE?54>64=<O <5E4=<G5E><E E4D4>F5D<EF<> 

E<EF5<O 4OE4=<O.  
2.5 �??4D4FO < ?D<5>DO 4?O 4G4<><5FD<G5E><E <EE?54>64=<=. 
2.6 $5=F75=>6E>4O 4<47=>EF<G5E>4O F5E=<>4.  
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6>745=EF6<5 �$& =4 G5?>65>4.  
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2 GG<FO64FL ?>E?54=<5 4>EF<65=<O 6 >5?4EF< M?5>FD>=<><, 
<7<5D<F5?L=>= < 6OG<E?<F5?L=>= F5E=<><, 6 >5?4EF< <=D>D<4F<>==OE 
F5E=>?>7<=;  

2 D47D454FO64FL DG=>F<>=4?L=O5 < EFDG>FGD=O5 EE5<O ?D<5>D>6 <54<>>-

5<>?>7<G5E>>7> =47=4G5=<O 
 

III. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 
 

�EFG?<F5?L=>5 <E?OF4=<5 ?D>E>4<F 6 6<45 F5EF<D>64=<O. $57G?LF4FO 
>F5=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 14 7444=<=. �>?D>EO 45?OFEO ?> >4F57>D<O< 
E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 >464O=), 3 
6>?D>E4 >4F57>D<< � (>F5=<64NFEO ?> 10 54??>6 >464O=) < 1 7444G4 >4F57>D<< % 
(D4EG5F=4O 7444G4 3 >F5=<645FEO 6 20 54??>6). %G<<4D=4O >F5=>4 =5 ?D56OL45F 
100 54??>6.  

�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 60 <<=GF. 
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�1 �5N5>F<6 D>F>4??4D4F4 O6?O5FEO E>5<D4NM5= ?<=7>=. �4>>5 
<7>5D465=<5 >= 445F =4 ??5=>5 ?D< D>F>7D4D<D>64=<< ?D54<5F4? 

a) �5=EF6<F5?L=>5, ?DO<>5 

b) �=<<>5, ?DO<>5 

c) �5=EF6<F5?L=>5, ?5D565D=GF>5 

d) �=<<>5, ?5D565D=GF>5 
 

�2 '4EF<F4 46<65FEO 6 <47=<F=>< ?>?5. �4>4O E<?4 45=EF6G5F =4 G4EF<FG? 

a) �<?5D4 

b) �G?>=4 

c) �>D5=F4 

d) 7D46<F4F<>==4O 
 

�3 �5F>4, >E=>64==O= =4 D4745?5=<< <>=>6 ?> <4EE5 < 74DO4G ?D< <E 
?D>E>645=<< G5D57 <47=<F=>5 <?< M?5>FD<G5E>>5 ?>?5, ?>76>?ONM<= >?D545?<FL 
E>EF46 65M5EF64 =47O645FEO:  

a) /�$-E?5>FD><5FD<5=  
b)  <4EE-E?5>FD><5FD<5=  
c)  ED><4F>7D4D<5=  
d)  >>=4G>F><5FD<G5E><<  
e)  M?5>FD>D>D5F<G5E><<  
f)  >><5<=4F<>==>7> D4EE5O=<O  
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�1. �44 F5=FD>< >DG7?>7> EF>?4 D44<GE>< 1 < =4 6OE>F5 2 < ?>465L5=4 
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d) 100 ?> 
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� 746<E<<>EF< >F >F65F4 3 E>?>EF46LF5 =><5D4, G>474==O5 =4 D<EG=>5, < 
?>4?<E< > =<<(G>474=O 65D=O5 =><5D4): 

 

1 >4<5D4 

2 5D>=E>E>>? 

3 FD4E5O 

4 ?>4E65F>4 

5 5D>=E< 

 

 

V. $5>><5=4G5<4O ?<F5D4FGD4 

 

1. �>D5=56E><= �.�., �>?5G<F5?56 �.�. �<>F5E=<G5E>4O E<EF5<4 
<54<F<=E>>7> =47=4G5=<O : GG55=<>/ �.�. �>D5=56E><=, �.�. �>?5G<F5?56, - 

%F4DO= �E>>?: &�&, 2017.-688E. 
2. �>D5=56E><= �.�., �>?5G<F5?56 �.�. $<?<EF %.�. �=FD>E>>?<G5E><5 

<54<F<=E><5 ?D<5>DO < E<EF5<O: ?> <54.-F5E=. ?>47>F. E?5F. �<><54. F5E=<>4 < 
�<><54. <=65=5D<O / �. �. �>D5=56E><=, �. �. �>?5G<F5?56, %. �. $<?<EF. - �GDE> 
: [5. <.], 2000. - 170 E. 

3.  $>4<>=>6 �.�. &5E=<G5E><5 <5F>4O 4<47=>EF<G5E><E <EE?54>64=<= < 
?5G55=OE 6>745=EF6<= / �.�. $>4<>=>6, &.�. �5>D46F564, �.�. �GE>=>64. - 

�>D>=56: ��&', 2002. '. 1. 161 E. 
4. $>4<>=>6 �.�. &5E=<G5E><5 <5F>4O 4<47=>EF<G5E><E <EE?54>64=<= < 

?5G55=OE 6>745=EF6<= / �.�. $>4<>=>6, &.�. �5>D46F564. - �>D>=56: ��&', 2002. 
'. 2. 189 E. 
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5. $>4<>=>6 �.�. &5E=<G5E><5 <5F>4O 4<47=>EF<G5E><E <EE?54>64=<= < 
?5G55=OE 6>745=EF6<= / �.�. $>4<>=>6, �.�. $GDE>64, �.�. %G44>>6. - �>D>=56: 
��&', 2006. '. 3. 176 E. 

6. �?OE>6 �.�. �<><54<F<=E>4O <7<5D<F5?L=4O F5E=<>4.-�.:�OEL4O L>>?4, 
2007. 3 342 E. 

7. �4L><D>6 �.�., %>5>?56 �.�. �D>5>F<D>64=<5 M?5>FD>==OE ED54EF6/ 
�>D>=56: ��'��� «��&'», 2008. - 185 E. 
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